
The table of Jinni`s section, for Stirling numbers of the second kind 

After rotating the jinni section for Stirling numbers of the second kind, mentioned in previous article, we 

will obtain the below table which it is easier to describe how to generate the Jinni`s family tree section 

for Stirling numbers of the second kind 

As we can see generating the jinni family tree almost is similar to generating the human`s one; but there 

are some difference between generating the Human and Jinni with together  

The math relations with coefficient bigger than (k) never can be exist in related section to (k), but the 

effect of it as a ghost will be there, it means that the values of the relations with coefficient bigger than 

(k), are uncountable (showed as colorless math relations), but it`s role is as a prototype for creating the 

other Jinni`s brothers       

The values of     (k = 1)  &  (K = 2)  &  (k =3)  and  (k = n – 1)  &  (k = n)   in Jinni sections constantly are (0)    

       

 

     n = 4      n = 5      n = 6       n = 7      n = 8      n = 9     n = 10  
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    k = 2 2 2      n = 4       k = 3  11 11     n = 5        k = 4  35 35        n = 6               k = 5  85 85              n = 7               k = 6  175 175              n = 8               k = 7  322 322              n = 9               k = 8  546 546              n = 10  
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


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


4 5 5 5 4375
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






2 3 3 3 3 162
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
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

2 4 4 5
2
2

2
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







3 4 4 5 880

             k = 3  162 162        n = 9 

 1
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
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
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2 3 5 5 150


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3 4 4 4 704
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
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0 
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2 3 4 4 96


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







2 3 3 3 54

      k = 5  4375 880 90 1100 120 150 704 72 96 54 7641     n = 10

? 
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3 4 4 4 4 2816
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2 3 3 3 4 216


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






2 3 3 4 4 288


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



2 3 4 4 4 384


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1
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







2 3 3 3 3 162

        k = 4  2816 216 288 384 162 3866     n = 10


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
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
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

2 3 3 3 3 3 486

        k = 3  486 486     n = 10





Key words:  generating the stirling numbers ; table of jinni`s family tree for generating stirling numbers;  


